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Please make sure that the printed pages in this questlon paper are 16 in number
and it contains 13 questions.
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The Code No. on the top of the question paper should be written by'the candidate
on the front page of the answer-book.
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Before beginning to answer a question, its Serial. Number must be written.
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* Don’t leave blank page/pages in your answer—book
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Except answer-book no extra sheet wzll be given. Wnte -to the pomt ‘and do not
strike the written answer.
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Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the correct and

complete quest:on paper no claim in this regard, will be entertained after
examination.
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General Instructions :
(i) All questions are compulsory.

(i) - This question paper consists of 13 questions which are dwxded into four
Sections 'A’, 'B', 'C' and 'D' :

Section ‘A’ : Question No. 1 of this Section has thirty five (1-35) Objective
Type Questions. Each question carries 1 mark.

Section 'B': This Section contains five questions from Question Nos. 2 to 6,
each of 2 marks. :

Section 'C': This Section contains five questions from Question Nos. 7 to
11, each of 3 marks.

Section 'D': This Section contains two questions from Question Nos. 12 &
' 13, each of 5 marks.

(iii) There is no overall choice. However, an internal choice has been provided in

both two questions of 5:marks. You have to attempt only one of the given
choice in such questions.
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SECTION - A

(s s7)

| (Ohjective Type Questions)

(Q: 1 to 18) : Select the most appropriate option from given below questions :

1.

B

(1)

we (2)

2028

(3)

Fdmmst: 0 | j
et A - I

(C)W*v : (D) T

" Which of” the followmg is Fundamental Urut" ,

(A) Watt o (B) Newton Lo e

(e Ampere : (D) Joule

@wq%awmﬁﬁs%a%gﬁ@m%lm%w%qﬂmaﬁmaﬁ
erl

By 9% | (B) 6% s ()
Q) o (D) 1%

There is an error of 3% in the measurement of side of a cube. The

-,.nipercentage error in the calculation of its volume of the sphere will be :

B) 9% (B) 6%

(©)..8% 5. shisire’ D) 1%
el g1 [MLT?) e & g 1
A T@a (B) - B

) o B . (D) @A

The cllmcnsmnal formula [MLT 2| represent :

(&) . Force - (B] Torque =
(C) Power | (D) Momentum

P T‘O N

- ———EE ..
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’ 1
w3 P B 7
©r 2r (D) 4r

(5)

2028 -

A particle completes semicircular path of radius 7, displacement travelled
by particle will be :

o r
(A) 2 | (B) 3
(C) 2r BIET A (D) 4r _
T I T (Ed @1 @ Ml 3 5w awg A R @ wwE-aT o ® 1
(A) ¥t A(B) ‘ot

i)
(©) &1 (D) 371 ¥
s s

An object is.'rh'oving with'a constant acceleration. its' velocity time graph
is : :
(A) Velocity 1 b 44 (B) Velocity 1

Time — Time —

(C) Velocity T

Time — -

Time —»
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(6)

6) = 7 arfeyr iy ®
(A) faems
C) FA

2028

(B) a7

(D) &

Which of the following is scalar quantity ?

(A) Displacement

(C) Work

(B] Velocity

(D) Force

(7) & JEGA A TN B F ETHN AL SRR 10 BT S R Y & I

M B A T B F HRT H SA &

A) 1:1

(C) 10:5

1
(B} I:5
(D) 1:2

 Two lobjccts_,'_-ﬁﬁénd B of masses 5 Ikg and 10 kg. fe_spcc_tively are moving

with same velocity. The ratio of their momentum will be :

Vi

(&) 1:1
(C) 1‘0:5

(8) FF-m AR o e :

Q) R
(C) wfeer ador |

Which Friction is minimum ?

4
1t »

(5) ‘Static Friction
(C) Kinetic Friction
(9) THEETT WY ¢ W
(A) T Gt I
(©) TF TR §w

B) 1:5
(D) 1:2
(B) ?M-—craﬂ“fr , T
(D) g el

tB) Limiting Friction

(D) None

(B) T BEH T
(D) ST X { P T

Py :F"...-Q;.
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Gravitational force is : .
(A) a conservative force

(B) Pseudo force |

(C) a non-conservative _fo:cé

(D) None of the abm}e ot
(10)ﬂﬁmm%ﬁﬁﬂmwa%wmmmwawa%aﬁ 1
A) a=ro P PRI gy g &gp

(C) a=mnm _ ‘ (D) r = ao.

The linear accelcra‘uon a of a body rotatmg about an axis w1th anguler

! acceleranon o; then R 2
(A) a=lrm L " Il P (B) a=ar
€) a=p gt al (D) r=aa 20T .0
(11) T e 1My F G HT B A R A x QY W ReRT ST AR T
(C) %m:,:ﬂ(a2 —xé)';.. ' © (D)~ g

' . 1 J . I ' I- 'L' RS {
The potentlal energy of a particle in SHM at a d1stance x from the

equilibrium position is : ! ey |
L .0 1. 43
(A) —mw“x (B) —=mw?a
2 ¥ (1 Y ' fy 2 .
(&) —;—mwz(a? ¥ (D) Zero e _

v ot TN
12023 ; $ LRI
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(12) IR P o & ot % o P B, @ A e 1
(A)  THNIAS (B}I qHadg
(C) w&™ (D) GHEEE
If a process takes place in a system at a constant pressure, the process is
known as :
(A) Isochoric . , (B)  Isothermal
(C) Adiabatic inog ) (pr Isobaric

(13)

m T W e W%ﬁﬂWﬁﬂﬁv@%W%lmW

FREE a9 & _ ek 1
: 2

Y mf (B) mur

© == (D) =

A body of mass m is moving on a c1rcle of rad1us rw:th umforrn speed v.

The centripetal force on body is :

2
) = (B) mor
my . , mv
© = > D) 77

P:m;
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(14) Tl oy @og & 0 - ‘ 1

(15)

() R R et A

(B) | UF frer St aWT SreiER

(CF TR e e e R

(D) T STERME Td et Sl Hf

In perfect inelastic collision :

tA] both momentum and K.E. are co;‘lserved

(B) both momentum and K.E. are not conserved i«
[C) momentum is conscrveq.qnd K.E. )is not. conserved.

Yl I

(D) momentum is not conserved and K.E. is conserved _

SHM M T B R & 31 M9 & S AW @ uia: Gﬁﬁﬂ'aqﬁgﬁ %‘ 1

@ 2mrz B 2mR
© 2mr? P (D) ~MR?
5 5

If mass M and radius of sohd sphere is R thcn moment of mertla about

diameter is :

2

a Y "2
A) ZMR? Z MR?
(A) 3 (B) = R
3.5, g 7
Z MR Dl L2
(C) = i (D) siwﬂQ |
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(16)wmrwﬁﬂﬂ%%mqﬁwnﬁamm@m@m% 1
1 .
G~ ®) T
© T D) 77

The mean kinctic energy of a molecule of any gas at absolute temperature

Tis proportional to : S
® @) F
oo (D)7
(17)Wgw%%w—wmwmm oy e E
O S
€ 1 | A | (D): 100
: _ The value of Young's modulus o;gl_gsgéity for a pg;;f_gc;_ly,,;;gid body is :
(A)  Zero | (15) Infinite '* | 3
(O e ki b ki iy 100
(18) wmwaﬁﬁaﬁq@%maﬂﬁﬁmm%l gez?rﬁvgﬁasrqﬂ
ﬁaﬁ.&‘. G’)—“ﬁ ] ' [l FEE BHE W . i it 1
;“(A.l). 2 VR (B)L a%ffr |
2028 . TS
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A body enters in the gravitational fiecld of the paxtll: FOF TSR

atmosphere. The ﬁotential cnergy of the earth-body system :
tA) will increase
(B) * will decrease
(C) will remain uncha#‘lgc& |
| (D) None of the avove

i . (0 19¥27): WW#WW#WW

(Q 19 to 27): Fillin the blanks wtth appropnate answer :

Y]]
1t

19) ....o0ud ) LR
() <o EK %lﬁﬁﬁ ﬁ% 3 SRR T 273 =

............... is W 161:11 part of thermodynamic temperature of the triple
point of water. b

arﬂFr%l 1

(ZOJWWW%%Q wnﬁwaﬁaﬁq%ﬁmmmm%mm
.............. Bl |

1
The angle of projection for which a projectile cover the  maximum

horizontal range is 10 M ML

(zl)mhqaﬂw%mr&m%ﬁwam@rwqaﬂ?ﬁ ...... - mﬁﬁl 1

The rate of doing work by a machine is called ............... of the machine.
(22) ....... o mr vn:r 6. 67x10'“ AR R s %cn qu %I 4

The value of .......... +.. 18 determmcd to be 6.67x10" 1 Newton—metr62 /kg?.

2028
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Scanned with CamScanner



2028

04 | 2028

(23) = ﬁqﬁq EE[ :rchq m% Hlﬁzrq‘ur Efs‘f qq‘q i’r qﬁaﬁﬁ ﬁﬁm ST W Y 1

(24)

(25)

" (26) 4.

(27)

---------------

By using ball bearings, sliding friction can be converted into

friction.

Y (T M T ' e 1 4
NOLRN i ! A\l (Fdd|

el fe-u s T B O or e T PPN I

The number of degrees of freedom' of ‘a’'molecule of adiatomic gas

RN W, :

T ¢ g P 4 T o 9, A A o @ e b
gl B AT B e T TRE .. -

ferel, OOK o
When a’ body being acted by.an exterﬁal_peﬁiodié.- force,:vibrates with the

frequency of the force, then the vibrations of the body are called

' MR (LN ST ey B L - :-. 4 1 ﬂw o T T
L= feuobds 5T Fivibrations, © 1EE () #19 < FiR27 Rl 3R P
\ .i_'-"-"-""-l [ricy ) {
4.18 A B .oovrriernn AR FT & JA & ’
LBETO TR VYt (213
4.18 Joule of work is equivalent to ............... calories of heat.

mam%mmﬁgaﬂ% g%qr@“l%ﬁ ﬁ‘m—%mwaﬂ F U8 W
7 3 ot B o d T wR $ A T B # gw 3 q w B R

tessesesecvees q’?’a%’pl TN T | P CCOU G SO 0 L WC0 L L A s i |, W s 1

s e akgll

The anglc 1n51de the llquId between the tangent to the solid surface and
b L L TR IO NS G o 1 e TH TR LA RACE) B e TR 10
the tangrent to the llqu1d surface at the pomt of contact is called

-'ll’.'|

St ol for that pair of sohd and liquid.

2
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(o 28 { 35) : fmrhoiRyg 3wy gav ¢

(Q.' 28 to 35) : Answer the following in short :

(28) FTE s TR B GRE y = 10sin100nt ¥ e B AAT FAT qEY g

The equation’of a simple harmonic motion is y =10sin100nt. Give value

of amplitude of oscillation.

5 i)

(29)W%Wﬁ$mzﬁrzoom§rmamﬁ% ﬁ[ﬂﬁﬁﬁ‘f@ﬁ60§§raﬁgw
%lﬁmmaﬁa'sﬁﬁmqﬁmn SiE S R PR e 3

forz .';I g g
i

When 200 Joule of heat is g1vcn to a gaseous sys':ter'n," then internal energy
increases by 60-Joule. Find the'work done by the system. '

~ol) Tolvenorisidn el Al VOr9)

(SOJ%WW%WWWW(OL wmmwtﬂ)ﬁmﬁﬁmu

Wntc relation betwecn coefﬁc:1ent of hnear cxpansxon (a] and cocfﬁcmnt of

o o [y
surface expansion (B) of a sohd matenal

0 20bi0ln ol Ialsviupy e srow 1o 9lmol 81

(aanamm ﬁaﬁﬂn%gﬂnmaﬁ E?rqﬁunﬁraﬁmwaﬂr? ‘
If a vector C is mu1t1pl1cd by a scalar n, what w111 bc.thc rcsultant veetor.
(32) ﬁﬁ%a&wmmﬁﬁmﬁwﬁwﬁwa@u%?

What is relation between cocfﬁcnent of stat1c fr1ctxon énd the. anglc of

fr1ct10n ?

2028
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(13)
(33) LIt Iuwe #1 wRewor oy p B 7

What is time-period of Geo-stationary satellite ?

(34) T o A Ry ) 7 B Rl g o

2028

Write down the formula for work done in rotatory motion.

. How many erg are there in 1 Joule ?

Eru:-: a
SECTION B
(aTI%r ag aafm FFFI)

(Very Short Answer Type Questmns)

TR v = A 3, u = RPEE I, @/~ @, ¢ = T

Check the equation v = u + at by the method of dimensions.

Where v = final velocity, u= Initial velocity, a = acceleration, t = time.

w%ﬁﬁg%w%ﬁh—ww@m|

Draw veloc1ty—t1me graph of a partzcle executmg s1mp1e harmomc motion.

w1 Ffam TaEy

Write Stoke's Law.

P. B:O%
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Red o1 W STRRE & F = 3i+4j =5k F1H faware S =5i+4)%3k &G HE
2

B TN G A FR T B

The applied force F =3i+4j-5k on a particle produces displaccment

-3
S =5i+4j+ 3k . Calculate work done by the force.

WG B sy R B aRwe R e ot £
Write down the postulates of kinetic theory of gases.
@’3 . 'H
SECTION C
('fﬁ mq m)

(Short Answer Type Questmns]

8

9.

2028 -

Obtain the formula for th;:.-_escapc .v_clocity of.a-body from the Earth.

E{1L = AV i

Write difference betwcen 1sothermal and adlabatlc process.

afz & |y A asmwmagﬁﬁaﬁamﬂgwaﬁ%ﬁmﬁammﬁ% a
ﬁ@'aﬁﬁmuﬁvﬁriﬁrqﬁmﬂr R = JA2+32+2ABcosm 5

}

If two vectors A and B represent two adjacent sndes of parallelogram then

prove that, magnitude of resultant R = J A% 4+ B2'{ DABcos0 .
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-3
Obtain expression for the centre of mass of a

system consisting of two
particles.

11. 99 oo 3 Py R

State the laws of limiting friction.
Qs - g
SECTION -D
(& S o)

(Long Answer Type Questions)

12. m@mﬁnﬁmwmﬁmaaﬁ@aﬁmﬁﬁ%w%w
e B -

5

Prove that the number of beats heard per second is equal to the difference in

frequencies of two sound sources.

OR

T e & o & g 2o o< e
Obtain an expression for the time-period of a simple pendulum.

2028 P. T-‘-'O--’h‘
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13. Pl Borch & o B o B @ 3 R I M@ Bt 5

Derive expression for the formula of rise of water in'a capillary tube.”

HEAT

OR

o @ v @ R AR R

State and prove Bernoulli's theorem.

el
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